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Thursday, November 22, 2012

--- On commencing at 9:34 a.m.

MR. QUESNELLE:  Thank you, everybody.  Please be seated.

The Board sits today on the matter of an application filed by Enbridge Gas Distribution on May 11th, 2012 under section 36 of the Ontario Energy Board Act.

The application is for an order or orders approving the disposition of balances in certain deferral and variance accounts.  The Board has assigned File No. EB-2012-0055 to the application.

On June 4th, 2012 the Board issued its notice of application and Procedural Order No. 1, which included an issues list, a process for written interrogatories and dates for a settlement conference, as well as the filing of a settlement proposal.

The settlement conference was held on August 1st and August 2nd of 2012, and, as a result of that conference, the parties were able to reach a partial settlement.

Enbridge filed a settlement agreement on August 24th, 2012 for the Board's consideration.  The Board subsequently accepted the settlement agreement in its decision and order issued September 17th, 2012.  That same order established today's date for this hearing of the unsettled issues.

Two accounts remain unsettled, the 2011 earnings sharing mechanism deferral account, or ESMDA, and the 2011 transactional services account, or TSDA.

There were two -- excuse me, there were two unsettled issues with respect to the 2011 ESMDA and one issue with respect to the 2011 TSDA.

The two issues related to the 2011 ESMDA included the allocation of costs between regulated gas storage activities and unregulated gas storage activities for the purposes of the 2011 earnings sharing calculation, and the amount of the provision for uncollectible for the purposes of 2011 earnings sharing calculation.

The approved settlement agreement established that the issue related to the allocation of costs between the regulated and unregulated gas storage activities be dealt with in accordance with the outcome of Enbridge's 2013 cost of service proceeding, EB-2011-0354.

The Board notes this element of the 2013 cost of service proceeding was included in the settlement agreement approved by the Board on November 2nd, 2012.  Therefore, as per the terms of the settlement agreement approved in this proceeding on September 17th, 2012, the issue relating to the allocation of costs between regulated gas storage activities and unregulated gas storage activities for the purposes of the 2011 earnings sharing calculation has been settled and accepted by the Board.

The approved settlement agreement established that the unsettled issues related to the provision of uncollectible would be heard today.  The unsettled issue with respect to the 2011 TSDA addresses whether Enbridge has treated the upstream transportation optimization revenues in 2011 in the context of Enbridge's existing IRM agreement.  The settlement agreement indicates that this unsettled issue will also be heard today.

My name is Ken Quesnelle.  I will be presiding over today's hearing.  With me on the panel is board member Paula Conboy, and I will take appearances now.
Appearances:


MR. CASS:  Thank you, Mr. Chair.  Fred Cass for Enbridge Gas Distribution.

MR. QUESNELLE:  Okay.

MR. QUINN:  Dwayne Quinn on behalf of the Federation of Rental-housing Providers of Ontario.  Good morning, sir.

MR. QUESNELLE:  Good morning, Mr. Quinn.

MR. MacINTOSH:  David MacIntosh, Energy probe.

MR. QUESNELLE:  Thank you, Mr. MacIntosh.

MS. SEBALJ:  Kristi Sebalj, Board counsel, and Munir Madhavji is the case manager.  And I believe -- I hope we have Vince DeRose on the phone.  Vince, are you there?

MR. DeROSE:  Thank you.  And, Panel, I just want to say a special thank you for accommodating me this morning.  As Board Staff may have told you, I was at the mercy of Air Canada, and their flights were off this morning.  So thank you very much for accommodating me.

MR. QUESNELLE:  Okay, no problem, Mr. DeRose.  Thank you very much for joining us the way you have been able to join us.  We will let you know the audio just at the last moment there was breaking in and out a little bit, so we may ask you to repeat things as we carry on this morning, but hopefully you can hear us okay.

MR. DeROSE:  Okay.

MR. QUESNELLE:  Thank you.  Okay, if there are no preliminary matters, Mr. Cass, I will put it over to you.

MR. CASS:  Yes, thank you, Mr. Chair.  I was actually going to make a very brief opening statement to set the stage for the issues.  You've done it, and so I will not make that opening statement.  I think given that, we can go to the first panel.

This panel will be addressing the issue with respect to the 2011 transactional services deferral account.  In the context of the settlement agreement to which you referred, it is the issue at item R of section 1 of the settlement agreement that this panel will address.

The witnesses are Mr. Kevin Culbert, closest to the court reporter.  He is manager, regulatory accounting with Enbridge, and Mr. Don Small, manager, gas costs and budget.  If the two of you could come forward to be sworn, please?

MR. QUESNELLE:  Thank you, Mr. Cass.
ENBRIDGE GAS DISTRIBUTION INC. - PANEL 1

Kevin Culbert, Sworn

Don Small, Sworn


MR. CASS:  Mr. Chair, I have no examination-in-chief, other than to have the witnesses adopt the evidence, so perhaps I will just do that quickly.

MR. QUESNELLE:  Thank you.
Examination-in-chief by Mr. Cass:

MR. CASS:  Thank you, sir.

Panel, I understand that you are responsible for Enbridge's evidence, including answers to interrogatories, in relation to the issue to which I have just referred, that being the issues set out at item R of section 1 of this settlement agreement; is that correct?

MR. SMALL:  Yes, it is.

MR. CASS:  That evidence was prepared by you or under your direction and control?

MR. SMALL:  Yes, it was.

MR. CASS:  And that evidence is accurate, to the best of your knowledge and belief?

MR. SMALL:  To the best of my knowledge, yes, it is.

MR. CASS:  Thank you.  Thank you, Mr. Chair.

MR. QUESNELLE:  Thank you, Mr. Cass.  Mr. Quinn, I understand --


MS. SEBALJ:  I believe that Mr. DeRose was going to start with his cross-examination.

MR. QUESNELLE:  Okay, good.

MR. DeROSE:  Yes, if that is fine, Panel.

MR. QUESNELLE:  Not that if you're out of sight, out of mind, Mr. DeRose.  But thank you.
Cross-Examination by Mr. DeRose:

MR. DeROSE:  That's what my family often says.

[Laughter]

MR. DeROSE:  Thank you very much, panel.

I would like to start -- and I believe, Mr. Small, you would likely be the best person to answer this.  I would like to begin by asking the panel to describe the three ways that Enbridge has optimized its upstream transportation portfolio for the time period in issue in this case.

To that end, as I understand it, you've optimized your upstream transportation portfolio in three ways, which I would describe as:  one, base exchanges; secondly, STS RAM credit transactions; and capacity releases being the third.

So just stopping there, am I right that those are the three ways in which you have optimized your upstream transportation portfolio?

MR. SMALL:  That's correct.

MR. DeROSE:  And could you just explain to the Panel - let's start with base exchanges - how a base exchange works at sort of a 10,000-foot level?  We don't need it in minutiae, but just so we get an understanding.

MR. SMALL:  Just to -- when you are trying to optimize the transportation or transportation contracts, there's exchanges going on.  We're giving gas to a counterparty at one point, and then receiving gas at another point.  But what we've tried to do is split them into these three different categories to help people kind of understand the type of transactions that we would be doing.

The base exchange, if you will, the easiest way to explain that one would be is one of the -- one of the things we have included in our TransCanada contracts, our long haul contracts, is an ability to have TransCanada deliver gas to us at a number of different delivery points.

One of those deliverability points would be Iroquois, for example.  So an opportunity may arise where a counterparty would come to us and they have a business opportunity where, if they could get gas at Iroquois and they could move it, say, into the States, they could, through a marketing opportunity, make some money, but they have no way of getting gas to the Iroquois export point.

So we can facilitate that for them by dropping gas off at Iroquois, and then the other side of the exchange would be, is they would give gas back to us at Dawn.

This type of a transaction we would only do typically in the summertime when we've got long haul gas moving, but we don't need it, say, to go to the eastern delivery area, where we can divert it to Iroquois and then get the gas back from them at Dawn.

So it's -- the gas is being exchanged on the day, and that's what we've kind of grouped into the phrase "base exchange", if you will.

MR. DeROSE:  Okay.  And is it fair to say that base exchanges are something that have happened for a long period of time?  This isn't something that is in any way new in the way that you optimize your upstream transportation?

MR. SMALL:  No.  We've been doing these type of transactions ever since we got into the transactional service business, if you will, back in the mid- to late '90s.  But as the market has evolved, as you can imagine, there has been more of these transactions going on.

MR. DeROSE:  Fair enough.

Now, if we could then turn to the use of STS RAM credits.  Perhaps you could start by explaining what an STS RAM credit is.

MR. SMALL:  Certainly.  STS stands for storage transportation service.  And it is a service that we contract with TransCanada, and the intent of that service is to allow us to move gas from the Parkway receipt point to the CDA delivery area or to the EDA delivery area.

And we have those contracts in place that allow us to ensure that we will be able to meet our peak day demands, but also our winter seasonable demands.

Back in 2007 TransCanada offered RAM credits to those firm shippers under these short-term services if you didn't fully utilize your contracted capacity.

So for example, if we don't fully utilize 100 percent of our contracted capacity under our STS contract, we would have available to us RAM credits.  Now, the only qualifier is that those RAM credits are only available from November 15th to April 15th.  


So what will happen is, our gas control group is going to be -- they're ultimately responsible for ensuring that the demands of the utility customer are going to be met each and every day, and over, you know, the course of the winter period.

What they will do is, they will nominate under the STS contracts to make sure we meet the demand, but there's going to be situations throughout the winter period where they don't need 100 percent of it.  So these RAM credits are going to start to accumulate.

Well, what our gas control group is going to do is, they're going to hold off releasing those credits to our transactional service group until later in the month, because they want to make sure that if for whatever reason it turns colder in the month and if we need additional transport or additional gas into the delivery area, we might have to contract for interruptible transport on TransCanada.

And just to clarify, these RAM credits, while you accumulate them, it is not like TransCanada is going to pay you the dollar value for those credits.  The only way you get those credits is if you contract for a discretionary service like IT transport.

MR. DeROSE:  Right.  If I can just stop you there.  So as the RAM -- as the STS RAM credits accumulate, one way that they can bring value to Enbridge, if you actually contract for interruptible service and apply those RAM credits to that interruptible service?

MR. SMALL:  Yes.  Just follow you along with that, for example, we've accumulated credits.  EGD needs to move some IT transportation for purposes of the utility business.  We do so.  We then take those credits that we now would receive.  We offset that IT transportation cost, and that is a benefit to the utility customers as part of my gas acquisition costs.

If later in the --


MR. DeROSE:  Sorry.  If we can just stop there.  And so that results in your gas costs being reduced?

MR. SMALL:  Yes, yes.  There would be an amount going into our purchase gas variance account.

MR. DeROSE:  Okay.

MR. SMALL:  If later in the month, when gas control is looking out seven days towards the end of the month, depending upon how demand is, if they don't anticipate the need to move IT, they will turn to our transactional service group and say:  If you can do a deal with a counterparty and it's going to require to move IT transport, go ahead.  Then the transactional service group will factor in the cost of the IT, the benefit of the credits, and that gets rolled into the revenue associated with that exchange deal.

So that's how the FT RAM can be used for -- to facilitate the transactional services revenue --


MR. DeROSE:  So when you said FT RAM I think you meant STS RAM?

MR. SMALL:  Sorry, thank you, yes.  It is the STS RAM.

The only other qualifying thing would be is, whether it is STS RAM or FT RAM, those credits expire, effectively, at the end of the month.  You can't roll them over to a next month and use them.  You have to use them in the month that you are being credited with them or accumulating them.

MR. QUESNELLE:  Excuse me, Mr. Small, that is a calendar month we're talking?

MR. SMALL:  Yes, it is, sir.

MR. QUESNELLE:  Okay.  Thank you.

MR. SMALL:  Yes, for example, if we left some of our STS empty on the 30th or the 31st of the month, we would generate credits, but if in all those two days we didn't move IT, too bad.  You've missed that opportunity to use those credits.

MR. QUESNELLE:  Thank you.

MR. SMALL:  The third one that is a type of exchange that has generated a lot of focus is what we're referring to as a capacity-release type of deal.  It's still an exchange deal, but these ones are a little bit unique, in the sense that we contract for a level of long haul FT transportation, both from Empress to the CDA and Empress to the EDA, and we need that contracted level of FT transport, not only to meet our peak day demands, but our winter and seasonal demands as well.

The advantage that we have is that we can flow that contract at 100 percent load factor even in the summertime, when it is more than what our demand in Ottawa would be, for example.  But we have the advantage of storage, and we can move that gas back down to storage.

So in the summertime we would be buying gas at Empress, moving it through our long haul transport to the EDA, and then diverting the gas back to Dawn for injection into storage.

While a counterparty might come to us and say, You know what?  We'll be willing to do an Empress-to-a-Dawn exchange, so the way this particular deal would work is, we would continue to buy the molecules at Empress, we'd hand that gas over to the counterparty at Empress, and we assign them a portion of our long haul capacity.  They then give the gas back at Dawn.  So part of that, there's going to be an exchange revenue associated with that deal.

Now, once I've assigned that transport to that counterparty, it's theirs to do whatever they wish.  If they choose not to flow that, then these FT RAM credits go to them, and while I don't know for 100 percent certainty that they're utilizing the FT RAM to facilitate this transaction, I'm pretty certain that that is how they're making it work.

MR. DeROSE:  It's a fair assumption to say that the FT RAM component or piece of that deal makes it more attractive to them.

MR. SMALL:  Oh, certainly.  The only other thing I would want to mention, though, is, I mentioned a little bit earlier about our gas control group looking at the month -- during the winter month looking at the level of STS and whether or not we might have to do IT.

STS has a unique characteristic to it, in the sense that, while you have a contracted demand level, the amount of STS that you can physically flow in the wintertime is dependent upon the amount of STS you inject in the summertime.

So while we would move that long haul gas in the summertime from Empress to the EDA, we would use our STS contract to move it back down to Dawn.  We would generate these STS credits, which we have to build up because we need the STS to go from Parkway to EDA or Parkway to CDA the following winter.

So what happens each and every year is our gas control group is going to evaluate what they think they need to accumulate for STS credits, so they know how much STS withdrawal they will have the following winter.

So it becomes their decision as to the amount of capacity they would be willing to let the transactional services group release, if you will.

So there are a number of factors that are going to go into the volume or the quantity that's going to be released from our gas control perspective, notwithstanding the fact that we're only going to release it if there is a market out there through counterparties wanting to do those types of deals.

While it's got a little bit of an extra nuance to it, it is still an exchange deal.

MR. DeROSE:  Okay.

MR. SMALL:  It is just Empress to Dawn.

MR. DeROSE:  But the ST RAM component of that exchange deal which, as you described, makes a capacity release difference than a base exchange, again is something that is relatively new certainly compared to base exchanges which you have been doing since the early '90s?

MR. SMALL:  That's fair.  I mean, the FT RAM component on TransCanada has been something that's been around since, I believe, 2004.

Do we take advantage of the FT RAM explicitly?  No, because we're operating our long haul contracts at 100 percent, so we're not leaving any of the space empty.

Is that marketer taking advantage of that FT RAM?  Probably most certainly they are.

MR. DeROSE:  Okay.  And, again, those capacity releases are more attractive to the marketer because of the FT RAM component?  That is a fair assumption?

MR. SMALL:  That's certainly one element.  You're still going to have the price differential of what's going on in the marketplace, and what the value is to them and where they can make their money, as well.

MR. DeROSE:  Okay, fair enough.

Now, I just want to confirm my understanding of the gains that have been associated with STS RAM credits and capacity releases and that are, as I understand it, recorded in your transactional services deferral account.

With respect to the STS RAM transactions, am I right that there is -- 800,000 has been recorded in the transactional services deferral account?

MR. SMALL:  Well, the only qualifier would be it's 800,000 net of, you know, the IT transportation costs and the STS RAM credits.  There would have been 800,000 of transactional services revenue that would have been generated in transportation optimization; 75 cents on the dollar would go to the ratepayer and 25 cents would go to the shareholder.

So the 800,000 is the revenue that would be generated, and then the shareholder portion would be -- the ratepayer portion would be the 75 percent.

MR. DeROSE:  Fair enough.  So the 800,000, it is a net amount.  That is the revenue associated with --


MR. SMALL:  That's the total revenue from those types of deals in 2011.

MR. DeROSE:  And the total revenue associated with capacity releases in 2011, as I understand, it is 3 million; is that right?

MR. SMALL:  It's approximately 3 million, yes.

MR. DeROSE:  Okay.  And so if we take the two combined, that 3.8 million, that is all recorded in your TSDA; correct?

MR. SMALL:  Sorry.  Hopefully, I am not confusing this.  I just want to make the distinction between the TS revenue account and the TSDA.

MR. DeROSE:  Sorry.  Let's start with the 3.8 million is recorded in the transactional services account?

MR. SMALL:  The revenue account, yes.

MR. DeROSE:  The revenue account.  Of which that $3.8 million in the transactional services deferral account, 25 percent or about $950,000 goes to the shareholder?

MR. SMALL:  Yes.

MR. DeROSE:  And 75 percent or about $2.85 million is credited to ratepayers?

MR. SMALL:  Yes.  And to the extent that all our transactional services revenue, the ratepayers' share has exceeded the 8 million that is already baked in rates, then an amount goes in the TSDA.

MR. DeROSE:  Okay.  Well, thank you for that.

In terms of -- if these revenues, instead of being treated as transactional services, had been treated as gas supply cost reductions, they would have been flowed through the PGVA instead of the transactional services account; am I right on that?

MR. SMALL:  If that was the case, yes.

MR. DeROSE:  Okay.  Can anyone on the panel -- are there -- is the manner in which the PGVA is allocated to ratepayers, so the cost allocation of the PGVA, is it different compared to the cost allocation of the transactional services deferral account?

MR. CULBERT:  No.  If we were to assume that these amounts were to be included in the PGVA, the allocation would occur in the same fashion as it does in the TSDA.

MR. DeROSE:  Okay.  And so there is no difference, in terms of the cost allocation piece, whether this is treated as transactional services or treated as PGVA, subject to the sharing between ratepayers and shareholder?

MR. CULBERT:  That's correct.  The underlying factors by which they would be cleared are identical.

MR. DeROSE:  Okay.  And I just want to -- and so currently that $3.8 million is shared on a 25/75 basis, 25 to the shareholder, 75 to the ratepayer?

MR. SMALL:  That's correct.

MR. DeROSE:  Okay.

Panel, are you aware that the Board has issued a decision a few days ago, November 19th, in Union on a preliminary issue where they dealt with similar issues?  It was the issues of FT RAM and the manner in which Union has dealt with FT RAM.

MR. SMALL:  Yes, we are aware of that decision.

MR. DeROSE:  Okay.  Are you aware that in that decision the Panel felt that it was appropriate for Union to receive a 10 percent incentive for having generated those revenues associated with upstream optimization transactions?

[Witness panel confers]

MR. CULBERT:  We are aware that that is an interpretation.  We have read the decision and also interpreted that the Board found that for those items that were not a temporary or temporarily available asset, that their decision was premised on that basis.

MR. SMALL:  I guess we think there is a little bit of a distinction between us and Union in the sense that, from the start, we know we're forecasting to operate our long haul contracts at 100 percent load factor, and, in fact, we do so.

And there's a little bit of a difference, as well, as to how the sharing mechanism works, where every transactional service dollar that is generated we allocate 75/25.

MR. DeROSE:  Yes.  I appreciate how you do it.  My question is actually a little bit simpler than that, and it's this.  I just want to make sure that I have the numbers right.

If this Panel were to decide that you should be treated the same as Union with respect to these type of transactions, and so the upstream optimization transactions that we've described as STS RAM credits and capacity release, so that 3.8 million, you should receive an incentive of 10 percent instead of 25 percent - I just want to make sure that I have the adjustment right - that that would result in a 15 percent adjustment, or about $570,000?

MR. CULBERT:  Without checking your math, yes, a simple calculation of 15 percent times the amount in question would likely produce what you're -- as long as your math is correct.

MR. DeROSE:  Subject to check, I simply want to make sure we're not going to argue about the numbers.

MR. QUESNELLE:  Mr. DeRose, Mr. Cass has something to interject here.

MR. CASS:  Sorry, Mr. Chair, I have not been quick enough in speaking up.

I just wanted it to be clear in these questions.  Because Mr. DeRose has been referring to "this type of transactions", I just wanted it to be clear that when he says that, he's not implying that the transactions in the Union decision -- referred to in the Union decision are the same as the transactions described by Mr. Small.

To me the question was confusing, because it said "this type of transactions" and it seemed to imply that the two types were the same.

MR. QUESNELLE:  Mr. DeRose?

MR. DeROSE:  Well, maybe I can just clarify it this way.

If the Panel felt that -- if the Panel determined that the use of STS RAM credit transactions and capacity releases, as described by Mr. Small, should be treated in a manner similar to those transactions that Union undertook, so that there should be an incentive of 10 percent instead of 25 percent, it would result in a 15 percent adjustment, which I calculate at 570,000.

Subject to check on math, does that -- would a 15 percent adjustment result in $570,000?  That's the number we're dealing with.

MR. CASS:  Yes.  Through you, Mr. Chair, I'm sorry, yes.  So I think your question is clarified, then, Mr. DeRose, that you're referring to a type of transaction that Enbridge does, and if it was treated the same way as the type of transaction referred to in the Union decision.

The other point I would make is that the sharing is -- for Enbridge is set out in a methodology that's been approved by the Board.

So in your hypothetical question, I take it you are assuming that the Board-approved methodology doesn't apply in this case for Enbridge for some reason.

MR. DeROSE:  I'm simply trying to get the number.  I think what Mr. Cass is inferring to and what -- I think this goes to argument, and --


MR. QUESNELLE:  Well, perhaps, Mr. DeRose, there is, I think, something that -- perhaps we're still at a little bit of cross-purposes there, and I -- and hopefully when wading in to assist I don't complicate it further.

But I believe to Mr. Cass's point that the mechanism for the sharing between the shareholder and the ratepayers is distinguishable between Enbridge and Union.  So what formula are you suggesting would be applied in your scenario that the Board may choose in this case if it were to consider that the transactions -- although the transactions may be different -- that the treatment that would be applied would be the same?  Are you suggesting that it be along the Enbridge sharing mechanism?  Or the Union?

MR. DeROSE:  Well, I am suggesting that there is -- the Enbridge sharing system is already being used.

MR. QUESNELLE:  Okay.

MR. DeROSE:  And so I guess, to be blunt, and to point out the obvious, a substantial difference between the Union decision, which you were on, and the Enbridge case that we have before us is that Union was not treating these as transactional service that are subject to sharing, and Enbridge is treating these as TS transactions which are subject to a deferral account and a transactional services account.

So there is already a 25-75 percent sharing between these in the Enbridge case.  That is a distinguishing factor right from the start.

My question is really premised on a possibility that this Panel may determine that because of the nature of these transactions, because of the fact that this is a transaction which should really be determined not as a transactional service, as a traditional TS transaction, but rather it is the type of transaction which should go to reduce gas costs, that that would warrant a different sharing.

Now, I think that is a point for argument, and whether the sharing that is currently in place at 25 percent is appropriate or whether it should be reduced to 10 percent for these type of transactions I think is really the issue.

MR. QUESNELLE:  Okay.  Thank you.

MR. DeROSE:  So I hope that provides some clarity.  It is difficult over the phone to look you in the eye and to see if it is making sense, what I am describing.

MR. QUESNELLE:  I am nodding in the affirmative, Mr. DeRose.

MR. DeROSE:  Thank you very much.  That makes me feel better.

And on that high note, that is all of my questions.  Thank you very much, panel.

MR. QUESNELLE:  Okay.  Thank you, Mr. DeRose.

Mr. Quinn?


Cross-Examination by Mr. Quinn:

MR. QUINN:  Yes, thank you, sir, and good morning, panel.  I took the opportunity to try to pull together some evidence that I may refer to in our examination, because some of it was lodged in the rebasing proceeding and some was in the earning sharing mechanism proceeding.

So I provided a collection of those interrogatory responses and an appendix from the original decision for the IRM process, and I would like to enter them into evidence, if I may.

MS. SEBALJ:  I think they're on their way.  And we will mark them as K1.1.
EXHIBIT NO. K1.1:  COLLECTION OF INTERROGATORY RESPONSES AND APPENDIX FROM ORIGINAL DECISION FOR IRM PROCESS, FROM MR. QUINN

MR. QUESNELLE:  Okay.  Thank you.

MR. QUINN:  I understand now the witness has copies already?

MR. CULBERT:  Yes, we do.

MR. QUINN:  Okay.  Thank you.  No need to turn up anything at this juncture.  I will try to guide us through there, and I will try to weave through -- around where Mr. DeRose has covered.

I want to start at the high level and drill down to make sure we do have that clarity and understanding.  First off, just generally speaking, Mr. Small, I understand you've done gas procurement on behalf of Enbridge for quite some time?

MR. SMALL:  Yes, I haven't actually done any of the actual procurement, but I have to make sure that they have done it correctly, so...

MR. QUINN:  Okay.  Well, so just at a high level, would you agree with me that the contracting of transportation is integral to Enbridge getting gas to its franchise here in Ontario?

MR. SMALL:  Certainly.

MR. QUINN:  Okay.  And that the movement of gas to Ontario is generally referred to as a transportation cost, and the analogy for that would be somewhat like the cost of freight for commodity product to Ontario?

MR. SMALL:  I wouldn't disagree.

MR. QUINN:  Maybe you can help me with how you would characterize it.

MR. SMALL:  No, sorry.  I said I didn't disagree, sorry.

MR. QUINN:  Oh, I'm sorry, I didn't hear the double negative.  Excuse me.

And in your position, one of the keys that you are considering is a diversified and prudent portfolio?  Would that be correct?

MR. SMALL:  That's correct.  We have long haul transportation contracts on TransCanada.  We also move a certain amount of gas along the lines into Chicago, then up through Vector and things like that.

MR. QUINN:  And that gas is sourced at different supply locations, being Empress, being Chicago, being potentially Dawn?

MR. SMALL:  Yes, attempting to try to get a level of geographical diversity, yes.

MR. QUINN:  Okay.  Now, one thing that is not in the evidence in either proceeding, but I thought we could just handle at a high level just to make sure we're on the same page, but is it still Enbridge's policy to be able to provide a retail commodity cost, that it would take the cost of gas at Empress as the main supply location, so that apples can be compared to apples?

MR. SMALL:  Yes, our gas supply charge that is identified in our handbook is based upon an Empress price, yes.

MR. QUINN:  Okay.  And then you are right, I probably could have looked through the handbook and found the actual formula, but at a high level that would be presumed to be an AECO purchase with Nova transport to Empress, plus any fuel gas to Ontario?  That would form what you would call the commodity cost landed in Ontario?

MR. SMALL:  Yes.  Our gas supply charge, yes --


MR. QUINN:  Okay.  Gas supply charge.

MR. SMALL:  -- is that western Canadian with fuel price.

MR. QUINN:  And so when you take supply from different locations and using different pipelines, you need to make an adjustment to your transport cost, to notionally move that gas back to Empress so that you have a common commodity point?  Is that accurate?

MR. SMALL:  That's part of the cost allocation and rate design methodology, yes.  I personally don't worry about that.  I just make sure that the contracts that we have and what we're paying for those supplies and transportation is accurate, and then if need be I assist the group at regulatory that does the cost allocation rate design.

MR. QUINN:  And the principle behind that is, no matter where the gas is purchased, it is priced at a constant point at Empress?

MR. SMALL:  That's correct.

MR. QUINN:  Okay.  So using the example -- and I am just going to use the example at Dawn.  If gas purchases are made at Dawn from some third-party source, they give you whatever the market price is at Dawn for whatever period or term of contract that you receive, correct?

MR. SMALL:  Just so I am clear, sir, Mr. Quinn, when you say "that counterparty", are you talking about when I am buying physical, or are you talking about when we're doing some type of an exchange deal for transactional services purposes?

MR. QUINN:  I appreciate the clarification.  I am just trying to give us a base line.  So if you are purchasing physical commodity at Dawn --


MR. SMALL:  Right.

MR. QUINN:  -- and it come to you at a market price of Dawn -- first off, stopping there --


MR. SMALL:  That's correct.

MR. QUINN:  -- that's correct?  So to be able to separate your commodity costs, your transportation costs, you have to somehow implicitly infer a transportation cost that would go with that molecule as if it had been purchased at Empress?

MR. SMALL:  That's correct.

MR. QUINN:  Okay.  Thank you.

So having that groundwork then, I do want to turn to where you were leading us, and I want to make sure that I capture it in the context of what Mr. DeRoseˆ went through with you.

The different exchanges, RAM credits and capacity releases, I am going to focus for the moment on capacity releases.

MR. SMALL:  Okay.

MR. QUINN:  So in a capacity release situation you've described to Mr. DeRose, I think I understand this correctly, in that you have a gas contract.  And we will use Ottawa as the example I think that you used.

So you have a contract of FT transport to the eastern delivery zone, yet most of that gas or a lot of the gas in the summer is not going to be consumed in the eastern zone over in Ottawa per se, but would be destined ultimately for Dawn.

MR. SMALL:  That's correct.  And the idea would be, as part of our gas supply plan you're going to try to determine what that optimal level of FT transport is going to be so you can not only meet your peak, but your winter demand levels, and still be able to fill that at 100 percent in the summertime so you don't have any unutilized cost on the transport.

MR. QUINN:  And in doing so you are effecting what you need, and that is a fill of your storage that would be withdrawn for the winter when the demands increase?


MR. SMALL:  Exactly.

MR. QUINN:  Okay.  But in the transaction you described as a capacity assignment, I think I have this correct, but please confirm, that you would take for -- take a slice or a whole contract, a certain quantity of gas was destined for Ottawa, and you would assign that contract to a third party.  At that point the third party would be obligated to provide you a receipt of your gas at Empress and a re-delivery of that gas to Dawn?

MR. SMALL:  That's correct.

MR. QUINN:  In that transaction, then, there is a commercial -- a negotiation which results in a benefit that is coming back to Enbridge for the opportunity that the marketer has received in receiving that firm contract?

MR. SMALL:  That's correct.  The value of the transactional service or the value of that exchange that we've agreed to with that counterparty is what we would classify as transactional services revenue.

MR. QUINN:  Okay.  And in terms of transactional services revenue -- and I was pausing whether it be helpful, but I think I am going to ask you to turn it up.  We might not camp on it as long as I thought, because Mr. DeRose went through it at a high level with you, but if you could turn up -- in the compendium, it is Exhibit I, issue D2, schedule 8.5, the attachment.

The attachment is at page 8 of 37 in your compendium.

MR. SMALL:  Yes, we have it.

MR. QUINN:  So just so that we know where the numbers come from, what I understand is that we're dealing now with lines 19 and 20?

MR. SMALL:  Those would represent the dollar amounts.

What I would want to do is, if you look at row 3 or item 3, you can see there that that's the -- 196,970, that's the contracted demand level for my Empress to EDA contract.  So that is 196,000 gJs.  That is what my contract is with TransCanada.

Part of that capacity is then going to be assigned away to Ontario T service customers, which is the next line, and if I am looking at April, that number is 15,391.

In 2011, we then assigned away or released 41,088 gJs a day of that capacity to those counterparties.  So what you have in line 19, that's effectively the credit that I would receive from TransCanada on my invoice for assigning that capacity away.

And the next line, the 2.4 million, is what that counterparty is then going go to turnaround and bill me, because they're not taking -- they're not willing to pay me 100 percent of the assigned cost.

So the net difference there, in the case of April, of about $480,000, that's the amount that month that I would have included as part of the transactional services revenue.

MS. CONBOY:  Sorry, could I jump in here?  So what you're saying is line 19 is the credit associated with the amount on line 5?

MR. SMALL:  That's correct.

MS. CONBOY:  Okay, thank you.

MR. SMALL:  When you assign away a part of your transportation on TransCanada, what your invoice would show is your contracted level, and then they give you a credit for each amount that you assign away, and then they turn around and bill that counterparty for the amount of the assignment.

MS. CONBOY:  Thank you.

MR. QUESNELLE:  Sorry, Mr. Quinn, just so I understand the mechanics, how is it that it remains constant through all of the months where that activity is taking place?

MR. SMALL:  Well, in this particular case, this deal would have been entered into.  I don't know the exact date, but it was one deal with one counterparty through 2000 level, and it was for a price.

MR. QUESNELLE:  Okay, thank you.

MR. QUINN:  I appreciate you have gone through and walked through some of that table just for our understanding.

But at a point, you had said there was a credit from TCPL on your bill.  So to the extent it is on your bill, it is basically just reducing your cost of transport?

MR. SMALL:  Yes.  Now, what I would do is, for purposes of my gas costs, because I actually bought the physical at Empress, what I would include as part of my gas acquisition cost is that transportation cost or that credit that I would have gotten from TransCanada.

So effectively I'm saying this is what I paid for the commodity, plus this transport.  There would be no impact on my PGVA, so there is zero impact on the PGVA.

But I have now got this revenue that I am going to use as transactional services.

MR. QUINN:  Well, that is the part I am struggling with.  We will turn later, I believe, to the accounting orders.  To the extent it is helpful, I presented them for you, Mr. Culbert, if that would help us.

But what we have here is an invoice that comes from TransCanada that, using the month of April, is about $2.9 million less than it otherwise would have been; is that correct?

MR. SMALL:  That's correct.

MR. QUINN:  So what amount is put into the PGVA?

MR. SMALL:  I'm deeming that transportation cost to move that amount of gas that I bought at Empress to be 2.8, so there is no impact on my PGVA.

I don't want to have any impact on my PGVA, because I am taking that $2.8 million and I am going to treat it as a transactional services revenue.

What is going to offset that $2.8 million is the invoiced amount I get from the counterparty.  In this case, it is about $2.4 million.

MR. QUINN:  Well, I have heard the word "deemed", and I don't think -- I don't think it would help the Panel, the OEB Panel here, to go through the very specific transactions.  But at a high level, what I understand you to say is you get an invoice from TransCanada and the charge that you put against your PGVA is $2.9 million higher than the TransCanada bill?

MR. SMALL:  That's correct.  Sorry, I'm probably not explaining it very well.

If we could just assume, for example, that we didn't do this capacity release deal.  I would be buying the physical gas at Empress and I would be moving it to long haul.  So my landed cost would be the cost of the commodity, plus the transport.  And to the extent that that cost is equal to my PGVA reference price, there is no impact on the PGVA.

Now, all of a sudden I am going to do this deal.  Because it is an exchange deal, the way the exchange deal is going to work, I've released or assigned that capacity to the counterparty.  Yes, I am going to get a credit from TransCanada, but at the same time that counterparty is going to invoice me for some dollars.

What I want to do is I want to make sure I treat my purchases or my gas costs whole, as if the transactional service deal didn't occur.

So as part of my gas acquisition cost, I am going to have the Empress cost, plus what that transportation long haul cost would have been.

Yes, that credit that I then get from TransCanada I will set up as a revenue item in my transactional services account, but offsetting that transactional services revenue is the amount of monies that I am paying to the counterparty.

So there is no impact on my PGVA, but I am putting 400 -- in this case about $480,000 into the transactional services revenue account, because I still had to buy the physical.  I had to get the gas delivered to me here, and that's what my -- otherwise my acquisition costs would have been.

MR. QUINN:  So you went through two scenarios with us.  The first scenario was you delivered the gas as contracted?

MR. SMALL:  Yes.

MR. QUINN:  And in that case, the customer is kept whole by he pays for what it gets for?

MR. SMALL:  Yes.

MR. QUINN:  The second scenario you provided us, you are inferring that there was a charge to you, in this case to the extent of $2.9 million, and charging your PGVA the TCPL invoice, plus $2.9 million?

MR. SMALL:  So there is no impact on the PGVA.  It is as if -- it's almost as if the transactional service exchange deal didn't occur.

MR. QUINN:  But to be clear, the transactional exchange deal did occur in April of 2011, and you're accounting is trying to not make it look like -- not make it look like, but try to present it as if it did?

MR. SMALL:  But, sorry, what I am trying to do is two different things.  One, I am trying to make sure that my PGVA isn't impacted by the outcome of the exchange deal.  That's why I've done it the way I've kind of described.

Then the financial impact of the exchange deal, there's two sides to it.  There's the credit part that I get from TransCanada, plus there's the payment that I am making to the counterparty.  That's what's going into the TS revenue account.

So there is no impact on the PGVA, but then the customer is going to get the benefit of that exchange just like any other exchange that we might have entered into, to the amount of 75 percent.

MR. QUINN:  Before we get to the clearance of the account and the impact of the dollars, would it be correct to say that you have landed that gas at Dawn, ultimate destination, for the lower cost of -- and I am having a hard time reading it with the small figures, but about $2.4 million?

MR. SMALL:  That would be the transportation -- well -


MR. QUINN:  That would be the transportation cost to Dawn.

MR. SMALL:  The $2.4 million, that's what I am paying to that counterparty that we entered into that deal.

MR. QUINN:  To provide the gas.

MR. SMALL:  Now, to think how that 2.4 comes up, I will try to keep it at a high level, if I can, and if I go on too far, I'm sorry.

But the way that transaction -- or where the benefit would lie to that counterparty is, they're going to get Empress gas.  They've got to give me Dawn gas.  So then there's going to be a price spread.

If they can take advantage of not flowing the gas on TransCanada and get the RAM credits, what is the overall value to them of that deal?  Where are the price spreads going to be?

And in this case, what's happened is, they've come up with a value of that deal to be roughly 38 cents a gJ.  So when they look at what that value is, they look at the value of that versus the amount that they're going to be billed by TransCanada, which in this case is the demand charge of 2.8.  So they're turning around and saying, We'll give you 38 cents, so that's why they end up charging me back.

MR. QUINN:  I understand, sir, how the market may view this, but I was concerned, and primarily we're here today as how the ratepayer sees this.

So you have a transaction that landed gas at Dawn in that quantity.  Instead of at about $2.9 million it was closer to $2.4 million.

MR. SMALL:  Sorry.  The only problem I have with your analogy is, that value is what I'm paying to that counterparty, and it's to come up with that number.  That's what that marketer sees the value of that.

The part where I have difficulty is if I was to try to enter into that transaction myself on behalf of the utility.  So let's -- I still have to buy the gas at Empress, but let's just say I said, Okay.  I'm going to leave the long haul empty.  I am going to get the FT RAM credits.  I still have to get that gas to Dawn.  So I would have to flow IT on the day from Empress to Dawn.

Now, to do that, we can forget about the commodity risk or whether or not, you know, the IT is going to be available, because more than likely it would be in the summertime, but I am going to have to go and bid for IT each day.

Now, take away any of that kind of commodity risk or anything like that.  If I was able to do that, I could probably save 24 cents.  Maybe.

So what I'm saying is, by me entering into this deal with this counterparty, because they can take advantage of price spreads by taking that gas at Empress, selling it somewhere else, buying gas at Dawn, doing a commodity transaction bundled with the transport, a commodity transaction that we did a number of years ago and, quite frankly, the Board didn't want us to do that kind of deal any more, but by me working with the counterparty I've been able to generate additional revenue that then the customer is going to be better off.

So, sorry, I just don't want to leave it that it makes it sound like I could have done it for $2.4 million.  It would have cost me something more than that, is what I am trying to say.

MR. QUINN:  Well, I think that is where you may allow me to jump ahead, and I think it's worthwhile to explore this.

You put some figures out as to what it may have cost or what it did cost.  What I want to ask you to do -- and because I don't think we have the figures in front of us, I would like to ask you to take an undertaking to say, whatever that quantity of gas was which is in line 5, 41 -- I guess that's 41,000 gJs a day, if you were to take that yourself, leave the pipe empty, and deliver the gas to Dawn for the same amount of money that you would have paid for that contract, how much more gas would you have received at -- how much more gas could you pay for receiving at Dawn for the same amount of cost that would be embedded in your 41,000 contract to the EDA?

MR. SMALL:  Sorry --


MR. QUINN:  I will break that down for you.

MR. SMALL:  I'm not sure I understand.  But maybe I can --


MR. QUINN:  Well, I will clarify the question.

You had presumed that this would cost you more money if you did it yourself.  I believe that there may be alternatives that have not been explored.  First off, I'll just ask you that question.  Did you explore doing it yourself?

MR. SMALL:  No, we didn't, and primarily the reason we didn't is because we saw what the price spreads were and we knew right away what those spreads were and what the advantage was, and when you -- the other alternative -- the only alternative to us would have been to move that long haul IT.

When you look at what the RAM credit would have been for us versus the IT toll, bid toll, the savings, if you will, would have been 24 cents a gJ.

But as I explained, if you were to look at -- do the quick calculation here, then we're getting roughly 38 cents.  So why would we explore anything other than, Yeah, go ahead and do the TS deal?

I mean, we could accommodate it.  Gas control was okay with releasing that level of capacity.  It wasn't going to harm them from doing their STS injection credits, which, you know, was a concern to us.  Could they accommodate that volume?  Yes.

Transactional services, that's their function, if you will, is to explore opportunities when counter-parties come to them to see if we can optimize our transportation assets to the benefit of the customer, at the same time providing that incentive to the company.  And that's what we've done here.

MR. QUINN:  Okay.  I want to break this down more slowly so that I have clarity in my request for provision of an undertaking.

Would you take it subject to check that the demand charge to the eastern delivery zone is $63.85 per gJ per month?

MR. SMALL:  It works out to be about -- sorry.  It works out to be 2.09 a gJ, yes.

MR. QUINN:  Okay.  And then would you take it subject to check that the southwest delivery zone demand charge is $53.89 per gJ per month?

MR. SMALL:  Sorry.  I'm looking at some notes that I had written down of what I saw as being the IT Empress to southwest zone delivery, and when I looked at what the IT bid toll was, as per TransCanada's interim tolls, the net cost was 2.08 per gJ.

When I look at the long haul Empress to EDA, factor in the commodity cost of about 14 cents, and then go through the calculation to determine what the FT RAM credit is, because you take the 100 percent toll, multiply it by 110 percent, then you back off the commodity again, the FT RAM credit, I would have gotten, had we done this type of transaction, would have been $2.32 a gJ.  But if I look at the IT toll, Empress to southwest, that is 2.08.  That is how I was coming up with the 24 cents that I talked about.

MR. QUINN:  Okay.  So I asked you, would you take it subject to check that the southwest delivery toll is $53.89 per gJ per month?

MR. SMALL:  Sorry, what was the number?  53?

MR. QUINN:  53.89 gJs per month, dollars per gJ per month.

MR. SMALL:  I will take it subject to check, but when I was looking -- sorry, when I was looking the other day at the toll schedule I had a different number, sorry.

MR. QUINN:  Well, I am very familiar with the calculation that you went through, but I think it loses a little something in the translation, so I would ask by way of undertaking that you could determine -- and I will be specific here -- for the 41,088 gJs per day, if you were to forgo delivering that through the pipe you contracted for and take the credits that you would receive, how much more gas -- or how much gas could you deliver to Dawn using IT and float it to Dawn on IT?  If you could take that by way of undertaking?

MR. SMALL:  Well, before I take that undertaking, I'm struggling a little bit, because when you say, how much more gas would I have bought, that's where I'm struggling, sorry.

If I had a contract to move 41,000 gJs a day of long haul, that's what I'm going to buy at Empress.  By doing the transactional service, we've still got that 41,000, and that's what my requirement or my need was.

So if I then turn around and say, Okay, don't do the transaction, but flow the IT yourself, I would still only be flowing the 41,000.

It's not that I would be trying to move more gas.  That wouldn't satisfy my requirements and my needs to fill storage.

MR. QUINN:  Did you buy any spot gas in the summer of 2011 at Dawn to fill storage?

MR. SMALL:  Yes, we did.

MR. QUINN:  Would you not, if you were able to deliver more gas for the same price, be able to forego buying that spot gas?

MR. SMALL:  So you're suggesting that I would have moved even more gas on IT?

MR. QUINN:  Yes.

MR. SMALL:  But then I don't understand what -- sorry, I'm not trying to be difficult, but --


MR. QUINN:  I take the premise that you could buy getting more bang for your buck, and I am asking you to quantify how much more transport you could -- how much more gas you could deliver to Dawn by doing it yourself.  You would then be able to forego a spot gas purchase.  That would stretch your transportation dollar on behalf of your customers, would it not?

MR. SMALL:  I guess the part I am struggling with, if I understand your analogy, you're suggesting that I would have left a certain part of my long haul firm transportation empty to generate credits.

So then I'm going to contract for a level of IT, so I can make sure I use those credits.  Now, I am only going to get credits for the amount of my long haul that I left empty.

But are you suggesting that I would then, on the day, contract for even more IT to buy Empress?

MR. QUINN:  Yes.

MR. SMALL:  But then now you have to look at the differential in the price spreads between Empress and Dawn, and why would we want to deviate from that supply plan to begin with?  Sorry, I am having trouble with your analogy.

MR. QUINN:  Because what you're telling us is you did this deal that would help ratepayers and shareholders.

I'm saying if you focus solely on the ratepayer, you could deliver gas to Dawn, approximately 18 percent more to Dawn, for the same transportation dollar, thereby foregoing having to buy additional spot purchases to fill your storage in the summer.

I am asking you to confirm what I believe through a calculation.  I think I have given you enough ideas around why we want it, and I would ask if you would take the undertaking.

[Witness panel confers]

MR. SMALL:  Certainly we can try to do an undertaking for you, but I just -- we'll have to put a whole bunch of caveats around it because, quite frankly, I am not sure how this is going to be helpful.

MR. QUESNELLE:  I think that may be helpful to the Board if we have a little more attempt to make sure we're going after the same undertaking here.

Perhaps -- it is your undertaking, your request, Mr. Quinn.  If you could state it as to exactly what you want, and if there is any questions on it, let's deal with them now.

MR. QUINN:  What I am asking for -- and we will just use the month of April to keep it very simple, but you had 41,088 gJs of transactional capacity release.  If you chose to keep that capacity for yourself, leave the pipe empty, use the FT RAM credits and flow gas to Dawn on IT, how much gas could you have delivered?

MR. SMALL:  And if I understood what you had said before was knowing that there's going to be a -- generate a saving, because of the lower IT toll, if I then -- how much extra gas could I have bought at Empress and moved through additional IT to work out to be the same amount under the premise you have that I've got more gas at that point in time, that I would be able to back off on Dawn discretionary later in the summer?

MR. QUINN:  Yes.

MR. SMALL:  And we would have to make sure that we take into consideration the Empress-Dawn pricing, as well.

MR. QUINN:  I do not believe so, sir, because I am asking you:  How much more gas could you deliver at Dawn?  To the extent -- I am not asking you what savings could be there and to quantify when you might have done your spot purchases or what the price was in April.

I am just saying:  How much more gas could you have delivered?  That's the end of the request.

MR. SMALL:  Sir, but as part of the undertaking, the only way I can respond to the undertaking, and what you're describing, is you're suggesting how much more gas could I have bought in the month of April.

And we can work out a mathematical number and say how much that is, but, at the end of the day, it's going to have to be compared against what gas I bought later on in the summer, because if you're changing how much gas I'm buying in April, then I'm assuming that I'm going to have to put more gas into storage in April, carry it longer, then buying gas at Dawn in July or August.

MR. QUINN:  You would do that in your gas supply planning for the summer, correct, if you were going to do this?

MR. SMALL:  If I was going to do this.

MR. QUINN:  Yes, you would do that before the summer hit; correct?

MR. SMALL:  But then that kind of goes against our overall gas supply plan, anyways, because we are purposely going to make sure we delay those Dawn purchases to provide us with a level of flexibility, and then you don't have the carrying costs and all of that.

MR. QUESNELLE:  I think we can only go so far with an undertaking, Mr. Quinn.

I think if the witnesses are prepared to provide the information that you have asked for, I think it would be acceptable to the Board that they surround that with caveats.  Those caveats can be argued.  We can't have a scenario here where we're having iterations of this, you know, beyond today.

MR. QUINN:  No, I understand, sir.  This is not -- I cannot and I would not expect them to redo a gas supply plan.

What I am asking them to consider is there is a ratepayer interested opportunity that pretty clearly hasn't been evaluated that I think ought to be evaluated.  Whether it is 20/20 hindsight, you will be the judge of that later on.

But I clearly hear that their capacity release program was providing value both to ratepayers and shareholder, and before that's done, as a prudent utility, in our view, you have an opportunity to look at:  How can I benefit the ratepayer first?  The transportation contract was purchased on behalf of the ratepayer.

And the scenario that I have drawn is not a hypothetical scenario.  And I can say from firsthand knowledge that there is a publicly-owned utility that's doing the same thing this month in November --


MR. QUESNELLE:  Mr. Quinn, I don't think anybody is taking exception.  I am not hearing the witnesses saying they can't provide the information.  They were providing some caveats now, which I think you can expect they will have caveats in the response to the undertaking.

I want to make sure we have a sufficient amount of information, for your purposes, to be able to go to argument afterwards.

MR. QUINN:  And I am asking:  How much extra gas could be delivered?  They can put a caveat on that they would forego some purchases in the summer and this might be the implications, but I am asking that to be considered in the case of what I will go through later on and what Mr. DeRose hit on:  Who is getting the benefits of whatever savings are done and who does that calculation?

So maybe I will move to that right now, as long as we have an undertaking acceptance.

MR. QUESNELLE:  At this point, I think we have a fairly full transcript as to what the request is, and I think that to the extent that I am understanding that the applicant will do its best to provide the information that was provided, I think that is basic.

I think everything else I heard was the caveats that may be surrounded, and we will leave that to your discretion as to what you want to supply with your undertaking, but I believe the transcript is clear as to what the basic information is that is required.

MS. SEBALJ:  J1.1.
UNDERTAKING NO. J1.1:  TO ADVISE HOW MUCH EXTRA GAS COULD BE DELIVERED AT DAWN USING MR. QUINN'S SCENARIO, AND DESCRIBE WHO BENEFITS FROM SAVINGS AND WHO CALCULATES TheM.

MR. QUESNELLE:  Okay, thank you.

MR. QUINN:  It may be helpful just to have it available -- and, again, I am jumping around what I planned, but I want to be efficient for the purposes of clarifying the record.  Starting at page 30, I had provided appendix E to the decision and order for the original decision which instituted the IRM program for Enbridge.

MR. CULBERT:  Yes, we have that.

MR. QUINN:  Okay.  I am not going to go through the specific at this point, but if I understand your methodology correct, if you were to be able to deliver more gas at Dawn for -- in the scenario that I provided, would it be simple math as to say the transportation cost per unit of commodity delivered at Dawn by that contract would go down as a result of being able to deliver more gas for the same cost?

MR. SMALL:  Well, following your analogy, I guess what we would be -- how we would account for it is we would leave that pipe empty.  We would have the cost that we would have to pay to TransCanada.

We would then get the RAM credits, but then I would also have the IT transportation costs.

So all three of those elements would go as part of the PGVA.

MR. QUINN:  But the IT transportation cost would be paid for by the demand charge of your contract.  Is that not correct?

MR. SMALL:  The IT would -- well, I'm going to get billed for a separate IT transportation cost.

MR. QUINN:  You have a demand cost in your contract.  You're using the FT RAM credits to pay the IT cost.  That is what I am asking you in the undertaking.  Do you have that part correct?

MR. SMALL:  Well, if the transportation costs that I'm going to be paying the demand charge on the long haul, if we didn't release the capacity, that transportation cost I'm going to have to pay.  But by leaving that empty, I now would be generating available FT RAM credits that I would be able to get if I had IT transportation.

So what I'm going to have -- what I would have in the scenario you've put out is that I've bought the physical, I've moved it on IT, so I'm going to have the IT transportation cost.  I would still have the commitment to pay the FT demand charge, but I also would receive a credit.

So all three of those things would go to contribute lowering my overall transportation cost in your example.

MR. QUINN:  Thank you.  And so just to be clear, because you went through a number of costs --


MR. SMALL:  Sorry.

MR. QUINN:  -- there would be no higher transportation costs than you had contracted for for the month of April.

MR. SMALL:  No higher...

MR. QUINN:  Transportation cost.

MR. SMALL:  It should work out to be lower, yes.

MR. QUINN:  Per unit lower, but the actual overall cost would be the same, because you had used your IT credits from FT RAM to offset your IT cost.

MR. SMALL:  Well, sorry.  I mean, like, the transportation costs are going to be the transportation costs.  I mean, I've still got those three elements that I would sum up, and that would become effectively my new transportation costs.

MR. QUINN:  But under the undertaking I provided you I've asked you to use the demand charge for the empty pipe to offset your IT costs.  So if your calculation is correct you have exactly the right number of molecules delivered under IT that was paid for by your demand contract.

So under that scenario, so we're clear on the original undertaking, the overall transportation cost is no higher; is that correct?

MR. SMALL:  We'll make sure we include something in the undertaking that shows that then.

MR. QUINN:  Okay.  Well, in that scenario then, if the overall transportation cost is the same, you've delivered more molecules.  That's your denominator.  Your unit cost of transportation has been decreased, correct?

MR. SMALL:  Well, again, maybe it is just me having a little bit of trouble with your analogy.  I've got 41,000 gJs a day of transportation capacity that I'm going to have to pay TransCanada a demand charge for.  If I leave that empty, I'm still going to have to pay that demand charge.

There's going to be a level of FT RAM credits that I'm now going to receive if I use the IT, and under the scenario you're suggesting, we are going to flow IT.

So I'll have the demand charge, I'll have the FT RAM credits, and I'll have the IT transportation costs.  So effectively those -- the sum of those three items become my effective transportation cost to move that gas.

MR. QUINN:  And I have asked that you do the calculation such that the same transportation cost is maintained.

MR. SMALL:  So then, to follow your analogy through then, if we say, Okay.  Here's what that lower transportation cost is.  How much extra gas would I be buying, and then what that would flow through into your acquisition cost in the month.  I think that is what you're suggesting, right?

MR. QUINN:  Mr. Culbert, I see you nodding.  Is my math correct?

MR. CULBERT:  I was nodding in agreement with what Mr. Small's interpretation of what you are asking for.

MR. QUINN:  Well, some of this does get down to the PGVA.  So to the extent that we are using the undertaking analogy -- and I trust you understand what I was speaking to, Mr. Culbert?

MR. CULBERT:  Yes.

MR. QUINN:  Having used that analogy, the amount that went into the PGVA would be no different than it would have been if you had flowed the gas to Ottawa and used STS -- or used your STS injection credit to get it back to Dawn.

MR. SMALL:  Sorry, the only thing I would say to that, though, is, at the high level you would think that.  But the only other thing that I'm suggesting, you're asking me to buy more gas, and we've already talked about the fact that it would reduce my purchases of future months.  So I don't think you can just look at one month in isolation.  You need to look at both.  That's all.

MR. QUINN:  If you're able to transfer more gas to Dawn in a month with that contract, would the unit cost of the transportation go down for the molecules you've transferred?

MR. SMALL:  I'd have to go through the numbers, sorry, as part of the undertaking.

MR. QUINN:  All right.  Well, I sense a challenge here that may not be able to be overcome.  I trust the numbers will be helpful.  To the extent they're not, then I would possibly provide some numbers that may be of assistance to the Board.

I think it is probably good to move on, but I will ask to -- just to clarify something Mr. DeRose had said.  To the extent that you use STS RAM credits to reduce your IT costs -- this is a different scenario.  I don't want for you to be stuck in that scenario --


MR. SMALL:  Yes, sure.

MR. QUINN:  -- that goes 100 percent to PGVA and ultimately ratepayer benefit; is that correct?

MR. SMALL:  And that has occurred on a number of occasions where we did flow IT ourselves and then took a share of those RAM credits to offset that transportation cost, yes.

MR. QUINN:  Okay.  And I think that you -- just so that the Board has the reference -- you can turn it up.  It is starting on page 13 of 37.  What I'm reading in the Exhibit I, issue C6, schedule 4.1, attachments to that schedule, that is what is being demonstrated in the TCPL 2625 interruptible contract?

MR. SMALL:  Yes.  What that schedule shows, the column on the left identifies the total IT transportation costs that I would have paid in a particular month.  And then the middle column is the amount of RAM credits.

And if you recall, earlier I talked about the RAM credit for the STS not being available to 2007, and it actually came into effect in November of '07.  So that's why you don't see anything at the beginning of '07.  And again, it is April to -- or, sorry, November to April.  That's why there is nothing in the summer months.

MR. QUINN:  What I was trying to clarify is the STS -- or STS RAM credits are used to offset IT costs by the utility in the notional winter months.

MR. SMALL:  To the extent that the utility flowed IT transportation for its purposes, then it would take those RAM credits to offset the utility's IT transportation costs.

If the IT transportation costs were to facilitate a transactional service deal, those IT transportation costs and the associated credits don't find their way to my gas costs.  They go into the transactional services revenue account.

MR. QUINN:  The schedules and the attachments in that schedule, is what we're looking at a reduction of your IT cost by using STS RAM credits?

MR. SMALL:  That's correct.  So that would --


MR. QUINN:  That's all I was asking, sir.  Just...

MR. SMALL:  Sorry.

MR. QUINN:  Thank you.  So I just -- so I wanted to have --


MR. QUESNELLE:  Mr. Quinn, this is pretty complicated stuff, we're recognizing here through the difficulty in even taking an undertaking.  So if the witness wants to elaborate on any of the responses, we would appreciate it if they -- you allowed them to --


MR. QUINN:  I apologize, sir.  I was just trying to make sure the Board knew where the reference were for the understanding.

And so in -- taking a hint from your question, what I understood you to tell Mr. DeRose is that the -- your gas control takes its time during the month to ensure that STS RAM credits are not used up in other ways, so that it can be available to offset IT costs that may be incurred during that specific month?  Did I understand that correctly?

MR. SMALL:  Yes, you did.

MR. QUINN:  Okay.  And that is what Mr. DeRose and our friends at CME were getting to in this undertaking, and it is demonstrated in those tables, that that becomes, in my view -- and maybe I will seek your confirmation -- a complete ratepayer benefit from the ST RAM credits.  In other words, it goes to reduce the PGVA costs.

MR. SMALL:  Well, the only part I struggle with that is that if the utility didn't need to move IT transport -- or didn't need to enter into that IT deal, we would not have received any FT RAM credits.  Again, you only get them if you flow on discretionary services.

So if, in a month, the utility didn't flow any IT transportation costs, but transactional services did, then there's going to be an IT cost, you're correct.  But that IT transportation cost and the associated credits shouldn't find their way to gas costs, because those costs and credits were part of a transactional service deal.  

It had nothing to do with the utility doing any -- moving that gas.

MR. QUINN:  Sir, I guess I wasn't asking you about transactional services deals.  I was asking if the table here demonstrates that Enbridge is using the STS RAM credits to offset IT costs in the winter months.

MR. SMALL:  Sorry, I was trying to elaborate that some of those IT transportation costs would have been incurred on behalf of the utility and some would have been incurred on behalf of transactional service deals.

MR. QUINN:  And those are not displayed in this chart, the IT -- STS RAM credits that were used for your exchange services which you were broadening, that is not shown in that specific table that I referenced?

MR. SMALL:  No, it's not, but if you could just go back to that other interrogatory response that we were looking at before where we were talking about the capacity releases, so I think it was on page --


MR. QUINN:  Eight of 37.

MR. SMALL:  -- 8, I guess.  Towards the bottom of that schedule, item numbers 22 and 23, what I've identified is the amount of the IT cost before RAM on a monthly basis and the STS RAM credits.

So then what I did further down was I wanted to show - so in the case of April, if we just stick with April for ease, the IT transportation costs of the month were $338,000.  The associated RAM was 316.  So my net cost was $22,000 of transport.

What I've done in 25 and 26 is I split that cost out between what was the amount that I would charge to gas costs or part of my acquisition costs, and the amount that would -- the net number that would go to the transactional service deal.

And then in items 27 and 28, I've just shown the associated revenue and the net revenue.  So you can see in the month of April we generated $106,000 of revenue offset by $22,000 of costs.

MR. QUINN:  What I would like to do is, since you've led us into this area - and this will probably be my final area to discuss with you - is if you could turn to page 23 of 37.

It is continuing.  It's attachment 2 of that same C6 schedule, 4.1, attachment 2 interrogatory response under section I.  So it's page 23 of 37.

MR. SMALL:  Sorry, 23, yes.

MS. CONBOY:  Before we -- sorry, I was just trying figure out the right time to go back to this, and probably while we're on this table on page 8, I think it is, Mr. Small, can you take me back through what you have just been explaining?

Is there any -- I am trying to reconcile any differences or -- I am trying to reconcile the bottom of the table.

I understand right up to 21, line 21.  Twenty-one doesn't impact any of the lines below that; correct?

MR. SMALL:  No, it doesn't.

MS. CONBOY:  So the 485, sorry, goes to the TSDA to -- and on the sharing mechanism that we've already spoke about.  The 338 is related to IT services?

MR. SMALL:  That's correct.

MS. CONBOY:  Correct?  So can you take me through one more time what you took Mr. Quinn through here, the 338 and then...

MR. SMALL:  Certainly.  And just, you can see the same -- the 338 and the 316 on the other table that Mr. Quinn was looking at, which is pages 16 and 17.

MS. CONBOY:  Okay.  So where do I find the --


MR. SMALL:  So if you look on page 17.

MS. CONBOY:  Yes.

MR. SMALL:  And you see April 2011?

MS. CONBOY:  Yes.

MR. SMALL:  In the first column, 338.

MS. CONBOY:  Okay, that is where I was -- I was trying to reconcile the two tables.  I've got it now.  Thank you.

MR. SMALL:  Oh, okay.

MR. SMALL:  So, Mr. Quinn, you're on 23?

MS. CONBOY:  Go ahead.

MR. QUINN:  Yes.  If I could ask you to turn up page 23 of 37, the table that we were just going through with Member Conboy has the detail per month, but provided this as a summary table.  Our friends from CME had asked for the previous years, but I think here focussing on 2011.

So the table under section I, this would be a summary table of how RAM credits were used and the distribution of ratepayer benefit from the respective accounts.  Would that be a simple summary?

MR. SMALL:  That's correct.

MR. QUINN:  Okay.  And so in the scenario that we've just gone through, you created -- you basically have RAM credits to the tune of $2.1 million, and the total ratepayer benefit achieved from those credits is 817.7; is that accurate?

MR. SMALL:  That's correct.

MR. QUINN:  Okay.

MR. SMALL:  What we wanted to demonstrate in that table was, if you see there the TS revenue of 819, 75 percent of that is 614,000.  What we're saying in the column previous to that, ratepayer benefit from RAM credits of 203,000.

In the case where the utility did flow IT and used the RAM credits to offset that, there is a net benefit of 200,000 to the ratepayer.

Then through the transactional services, there is a 75 percent of the TS revenue related to the utilization of the RAM credits to offset IT transport.

MR. QUINN:  Okay.  So that's the last area in gas supply.  Thank you, Mr. Small.

I wanted to turn to page 31, which is the accounting treatment for purchased gas variance account, which was part of your original approved IRM agreement.

I trust it is Mr. Culbert that I ask the question for, but I wanted to focus on paragraph 2 of the methodology.

MR. CULBERT:  Yes, we have that.

MR. QUINN:  For the record, it says:
"The fixed cost component of TransCanada firm transportation services, i.e., the transportation demand charge, is included in the determination of the reference price.  However, any demand charges relating to unutilized transportation capacity, either forecast or actual, are excluded.  This treatment of forecast and actual transportation charges for unutilized transport is consistent with the Board's concerns that these amounts be excluded from the PGVA."

Stopping there, Mr. Culbert, for the record, where would forecast unutilized transport costs go if they were to be incurred?

MR. CULBERT:  I actually have to defer to Mr. Small.  This is more his area of expertise.

MR. QUINN:  Okay, I apologize.

MR. CULBERT:  That's okay.

MR. SMALL:  If we had unforecasted, unabsorbed demand charges, then those costs would be borne by the shareholder as a direct item to our gas costs.  They wouldn't flow through the PGVA.

If we forecast UDC, then typically we would include that as part.  That's to be approved and accepted, and you would be able to recover that.

It's what we kind of did as part of the 2013 application.  Where we had a level of STFT that was going to be left empty or unutilized, there was associated costs.  We ensured we didn't have that included as part of our PGVA reference price calculation.  In fact, we ended up agreeing to defer that cost through a subsequent deferral account.

MR. QUINN:  What is your definition of unabsorbed demand charges?

MR. SMALL:  Costs associated with the demand charge you're going to pay on your long haul transportation cost, and if you don't flow any gas on that, you're going to pay TransCanada for that.  So that would be, in my mind, unabsorbed demand charges.

It was a lot bigger issue back in the mid '90s when we had a lot more unutilized capacity on TransCanada.  But in the most recent years, we've always been flowing at 100 percent load factor.

MR. QUINN:  Those are my questions, sir.  Thank you very much.

MR. QUESNELLE:  Thank you very much, Mr. Quinn.

Ms. Sebalj?
Cross-Examination by Ms. Sebalj:


MS. SEBALJ:  I didn't have any questions, but I just have a couple arising from Mr. Quinn's cross-examination, and it is -- particularly, it's a continued question with respect to the relationship between the table -- the table on page 8 of Mr. Quinn's compendium, and the table on page 23.

And I just want to make sure that I understand.  The table on page 23 is -- it says:

"The table below shows RAM credits, the amount of RAM credits optimized, and the optimization revenue shared."

So that is all RAM credits for the years shown in the various rows; is that correct?

MR. SMALL:  Yes.  And in the case of EGD the only RAM credits that we've received are related to the STS.

MS. SEBALJ:  Are related to the STS.  So when I look at TS revenue, for instance, as the column for 2011, 819.4, is that the sum of the revenue in line 27 of the table on page 23?

MR. SMALL:  Sorry, no, it's not, because the table on page 8 goes April '11 to March '12.

MS. SEBALJ:  Oh, that's why.  I was doing some rudimentary math, and I didn't look up at the column.  So they're not -- I can't do a direct comparison between those two tables.

MR. SMALL:  Well, sorry, if you -- the undertaking response to 8.6, we did provide similar tables for the April to March period of other years.  So I think it is on page 12, you've got the January, February, March '11 information.

MS. SEBALJ:  Oh, I see.  So I would just have to do --


MR. SMALL:  Yes.

MS. SEBALJ:  -- take the first part of this and the last part.

MR. SMALL:  Yes.

MS. SEBALJ:  Okay.  Got it.  That was it.  Thank you.

MR. QUESNELLE:  Okay.

Anyone else for cross-examination?  Mr. MacIntosh?  No?  Okay.  I think Ms. Conboy has questions.

MS. CONBOY:  No.

MR. QUESNELLE:  No questions?  Okay.  Thank you.

All right.  Mr. Cass, any redirect?

MR. CASS:  I have one question, thank you, Mr. Chair.
Re-Examination by Mr. Cass:

MR. CASS:  Mr. Small, during Mr. DeRose's discussion he referred to an idea that the two types of transactions he was talking about that led to the total amount of $3.8 million, if you will recall, $3.8 million, which I believe was a gross amount, as opposed to a net amount -- I may be wrong in that.  But he referred to that -- an idea that those would not be traditional TS deals, but a type of deal that should go to the -- go to gas costs.

Can you comment on that idea that those would not be traditional TS deals?

MR. SMALL:  I guess the part that I struggle with is, all three of those types of transportation optimization deals, in my mind, are simply exchanges.  And they're exchanges that are going to come about because a third party wants to enter into a transaction with us.

It might be easier to break the three of them up so they kind of put them in a little bit of a context, but the -- just because we're able to do a deal and take advantage of the STS RAM, that's just a function of TCPL's tolling, and if that counterparty doesn't want to do a deal or there is no counter-parties that come to us, it's not like we can get those credits.  We're not going to utilize them.

The capacity release, again, I think you need that counterparty to do that.  We don't want to be acting in the form of a marketer, trying to buy and sell commodity at different receipt points.

So if you have the counter-parties there to facilitate those transactional services, those types of deals, it's kind of all what transactional services was meant to be.  You have your transportation contracts, and if there's points in time where they aren't needed for the utility or you can take advantage of them to offer those to third parties and generate revenue, that's the whole concept of TS.

These types of deals, FT RAM may go away in a year, two years from now.  We don't know.  It depends upon what happens with TransCanada.  But there may be other opportunities as part of TransCanada's tolling methodology that will arise.

So struggling with the idea of traditional and not traditional, I have a little bit of a concern.  It's still an exchange to me between two points.

And certainly we don't go through and develop our supply plan to say, Okay.  We think we'll be able to do these kind of deals.  In fact, we don't know -- I don't know next summer what we're going to be doing.  I can imagine we will probably be doing some deals, but the size and the level or type of transaction remains to be seen.

MR. CASS:  Thank you, Mr. Small.  Thank you, Mr. Chair.

MR. QUESNELLE:  Thank you, Mr. Cass.

I thank the witness panel.  But before you leave -- and this is just because you are on the -- with us right at this moment.  I don't know what your plans are.  The undertaking that has been agreed to, any concept or idea of timing on that, just so that -- we haven't spoken about schedule of argument, but it may be valuable to know how much time you think you will need for that.

MR. SMALL:  Considering we're just looking at the one month, it's probably something that I could start to pull together this afternoon, I would think.  Certainly I would want to reread the transcript tomorrow just to make sure that we're answering it in the way it was meant.  So hopefully we could do something within the next couple days.

MR. QUESNELLE:  All right.  Thank you.  That's helpful.  Okay.  Thank you again.

Mr. Cass, we've got -- I know we have one other panel coming forward.  I don't know that there's been anyone who has signalled that they will be doing any cross on this, but we will accept your panel if you want to put them forward to our benefit.

I have an issue that I would like to carry on if we can and have the other panel introduced at this point, if you are fine with that, Ms. Conboy, because we will have -- I was anticipating a break around 11:30 and actually doing the lunch at that time.

But rather than -- you know, I don't -- I am not anticipating that we will be long with this panel.  Is that the case?

MR. CASS:  I believe that is the case, Mr. Chair.  Mr. Bourke has gone to get them.  I hope we can have them here in minutes.  And, yes, I would hope that it will not take long.

MR. QUESNELLE:  All right.  Well, why don't we just take a short break, and the panel will be available, and then we can have your witness panel situated, and then we will resume.

MR. QUINN:  Sir, if I may, I will actually exit at this time.  I did not have any questions for the next panel.  I don't think it serves you to have me around.

MR. QUESNELLE:  Thank you, Mr. Quinn.

MR. DeROSE:  And Mr. Chair, with your permission, I will also hang up.  I have no questions for this next panel.
MR. QUESNELLE:  Thank you, Mr. DeRose, and thanks for your participation this morning.

MR. DeROSE:  Well, thank you very much for accommodating me and for Board staff accommodating me so quickly, so -- much appreciated.  Take care.  Good bye.

MR. QUESNELLE:  So we will be available, so as soon as your panel is ready just let us know.

--- Recess taken at 11:12 a.m.


--- On resuming at 11:22 a.m.

MR. QUESNELLE:  Okay, thank you, please be seated.

Mr. Cass.

MR. CASS:  Thank you, Mr. Chair.  So we have the next panel here, Mr. Chair, to address the issue that you referred to in the opening.

As the Board would be aware, there's a brief examination-in-chief of this panel.  It has been circulated in writing, so we would be in the Board's hands on this.

The written document could be given an exhibit number and, when the witnesses have been sworn, they can adopt it under oath, or we can do it orally, question and answer, as the Board prefers.  Then of course the witnesses can answer any Board Panel questions, as well, if there are any.  We are in the Board's hands as to how we do that.

MR. QUESNELLE:  Why don't we do it this way?  Why don't we give it an exhibit number?   And I would ask that we have the witnesses sworn in, and then rather than -- are there areas in here you would like to have highlighted or that the panel would like to -- or is this the condensation of everything you would like to have said today?

MR. CASS:  Yes, I don't think there is anything in particular that needs to be highlighted, Mr. Chair, because it was really just to give the Board some context for the issue, and that's all.

So it can be given an exhibit number, and unless the Board had particular questions that the Board wanted to ask, I don't see a need to go through it orally.

MR. QUESNELLE:  Let's just take it as written.  I appreciate the assembly and that we've gone through this.

If we are going to do a reading of this into the record, why don't we take it as an exhibit number and we will save everyone their breath on that this morning and the time on that.

And I anticipate that you have had the opportunity to record, in a written fashion, exactly what you would like to have us know about this and I trust it is a full response.

Thank you very much.

MR. CASS:  Yes.

MR. QUESNELLE:  Exhibit number?

MS. SEBALJ:  It is K1.2.

Just to be clear, Mr. Cass, there is the written evidence-in-chief, which is the actual written piece, and then there were two other documents.  Did you want them marked separately?  Why don't I mark them separately, just because they appear separately?

K1.2 for the evidence-in-chief re unsettled aspects of issue 1L from 2011 ESMDA settlement agreement, and then there is a three-page document entitled "Specific Items, Section 3020", and we will mark that as K1.3, and then a third document entitled "General Accounting, Section 1506", and that will be K1.4.
EXHIBIT NO. K1.2:  EVIDENCE-IN-CHIEF RE UNSETTLED ASPECTS OF ISSUE 1L FROM 2011 ESMDA SETTLEMENT AGREEMENT
EXHIBIT NO. K1.3:  THREE-PAGE DOCUMENT ENTITLED "SPECIFIC ITEMS, SECTION 3020"
EXHIBIT NO. K1.4:  DOCUMENT ENTITLED "GENERAL ACCOUNTING, SECTION 1506".

MR. CASS:  So what I will do, Mr. Chair, then, is introduce the witnesses.  We can have them sworn.  They can adopt the evidence, and then of course they're available for any questions.

MR. QUESNELLE:  Okay, that's fine.  Thank you very much, Mr. Cass.

MR. CASS:  The witnesses, starting with Mr. Culbert, who was on the previous panel and is well known to the Board.  Next to Mr. Culbert is Mr. Yuzwa.  He is director, finance and control with Enbridge.  Beside Mr. Yuzwa is Arvind Dhoot.  She is manager, customer care financial administration.

Finally, we have Steve McGill, and he is manager, billing and customer systems.

Could you -- Mr. Culbert doesn't need to be sworn, but could the other three please come forward to be sworn?
ENBRIDGE GAS DISTRIBUTION INC. - PANEL 2

Steven McGill, Sworn


Arvind Dhoot, Affirmed


Barry Yuzwa, Affirmed


Kevin Culbert, Previously Sworn

Examination-In-Chief by Mr. Cass:


MR. CASS:  So, panel, the issue for which you are appearing in front of the Board is the second part of item L of section 1 of the settlement agreement.  With respect to that particular issue, was the evidence of the company, including answers to interrogatories and including the document that's been marked as Exhibit K1.2, prepared by you or under your direction and control?

MR. CULBERT:  Yes.  Speaking on behalf of the panel, yes, it was.

MR. CASS:  And is that evidence accurate, to the best of your knowledge or belief?

MR. CULBERT:  Yes, it is.

MR. CASS:  Thank you.  Mr. Chair, I have no further questions, and...
Questions by the Board:

MR. QUESNELLE:  Well, the only one - and I hadn't anticipated we would be at this point in this time what -- this written evidence, but I did take a brief look through it, and the one area that did come up that I would like to hone down on, if we can, is in response to question number 7.

And we're talking about deficiencies here, and the one that -- midway through the second paragraph, starting with the sentence:

"This allows for the reconciliation of all customer accounts to the General Ledger Account balance.  This capability did not exist prior to the implementation of the new CIS.  During the conversion of its legacy system to the new CIS, the Company became aware that the detail in its customer accounts did not agree to the balance in the General Ledger Account."

Now, we go on and refer to the correction of an error.

So is it an error, or is it literally a refinement?  I'm trying to understand or discern error in the accounting versus the capacity that the new system provided to give you better information.

MR. YUZWA:  I can speak to that.  I think you articulated it very well.  It was a refinement.  In the legacy system, just for context, we had a billing system which was responsible for mailing out to every address the amount of gas that they used, and any other charges that are included within our one bill concept.

Then what we had was a clearing account where all payments and bills were charged through, which then went to accounts receivable as a one-line general ledger entry.

So when you're saying can I reconcile the detail to our billing account to the one line, the answer is it needed to also include the clearing account so you would have to go through the detail.

And with the one bill system, payments included things for Enbridge Gas, but also for other contractors, et cetera.

So there were those items, because we bill on a regular basis, that were still in process of being cleared, dispute resolution and other reconciliation requirements.  So there was always that difference that we had between the two, but we always felt that when those would get cleared, the total billing system would agree.

And what we found was, when we implemented the new CIS system, we had an accounts receivable sub-ledger so that all bills actually got charged to individual customer accounts.  So in excess of 2 million individual customer accounts were now detailed and delineated within our accounting system, and that was the total that became the general ledger number.

So when we were transferring or transitioning from one old system to the new system, we had to kind of go through and do an evaluation of those 2 million accounts times 27 bills to evaluate whether or not everything in that clearing account could be reconciled between those two records.

And we found that as we went through that, we had $4.1 million of items that were dispute resolution or other items, which would indicate that we should be relying on the sub-ledger balance on the basis of the account versus the general ledger.

So we refined our allowance for doubtful accounts based on our detailed analysis of individual accounts over that period of time of the implementation.

MR. QUESNELLE:  Okay, thank you.  Ms. Conboy, do you have anything else?

MS. CONBOY:  I just -- I'm trying to understand.  I thought what I heard you say, at a very high level, was you had -- that the one-liner, which essentially was a sum of all of the bills that you had put out --


MR. YUZWA:  Mm-hm.

MS. CONBOY:  -- net the third party amounts that were on those bills.

MR. YUZWA:  Mm-hm.

MS. CONBOY:  But I'm trying to reconcile in my mind, how is it that the end result -- sums of the individual bills and the amount that goes into ledgers should be the same, so how is it that a more detailed accounting of the individual bills, if I understand you correctly, gives you a $4.1 million difference?

MR. YUZWA:  Okay.  I will try and articulate it a different way, and maybe correct me if I am not providing the information or raising more questions.

MS. CONBOY:  Thank you.

MR. YUZWA:  Our billing system does not, in the old records, our old system, did not tie into the general ledger.  So we had a general ledger account and then a clearing account.

So you've got a general ledger accounts receivable account, and then you will have a clearing account, which is what we used to reconcile to what was in our billing system.

MS. CONBOY:  So if A plus B doesn't equal C, you've got the one account that has the different amounts.

MR. YUZWA:  So we had to do the analysis of the middle account, the B account, to see why we couldn't get A and B to equal C.

MS. CONBOY:  Okay.

MR. YUZWA:  Does that help?

MS. CONBOY:  Yes, I guess it is just the proportions of what goes in -- what comes directly from the bills and what goes into the clearance account to come to the end result in the ledger.

MR. YUZWA:  Exactly.  Everything that went through the bills actually goes through the clearing account.

MS. CONBOY:  Got you.  Thank you.

MR. QUESNELLE:  Okay.  Thank you.  Thank you, Mr. Cass, Ms. Sebalj.  Do we have anything else, other than -- we haven't had, I don't believe, any discussion about the argument.  We understand from the previous panel that they will be a couple of days with a response to that undertaking.

Mr. Cass?  Any proposals?

MR. CASS:  I don't have a particular proposal, Mr. Chair.  My apologies.  In fact, we're pondering whether an argument-in-chief is really necessary, given that we're really -- Enbridge is really waiting to hear what the issues are from the other parties, and then would expect to respond.

You know, there have been cases where an applicant has waived its argument-in-chief, and we're pondering whether that might expedite the process here, which would mean then that the first step would be intervenor arguments.

MR. QUESNELLE:  In fairness to yourself and the applicant, Mr. Cass, why don't we do this offline.  Why don't we first of all take a look at the undertaking.  Once that is in, we will note that it is in.  That may also, through that exercise, alter your thinking on whether or not you want to provide chief – argument-in-chief or not.

And so why don't we leave it for now, and we will issue something in due course in the next few days once we have received the undertaking or the undertaking has been filed, and in contact with the parties.

MR. CASS:  I think that is an excellent idea, Mr. Chair.  Thank you.

MR. QUESNELLE:  Okay.  Thank you very much.  With that I thank the witness panel.  You are excused, and we appreciate it.  Thank you.

--- Whereupon hearing adjourned at 11:35 a.m.
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